RS- 121 A Sy BMEEADR Wil R
JNE] i H FEHE BRI fhENRE TN E)

LU HaEL 5 el Aol sl Al el s Al dsdl AEH (5 | (&5)

X 49, 041 109, 427] 53, 169] 56, 258 44]  -16[  -40 49 89 24| 402 378 0 122 122

HI—TH 701 1,470 716 754 0 -2 -3 0 3 0 3 3 1 1 0

FLl T H 571 1,296 646 650 7 4 -1 0 1 4 4 0 1 1 0

LI =TH 466 1,039 498 541 1 0 0 0 0 0 1 1 0 0 0

Sl AE 1, 7381 3,805| 1,860] 1,945 8 2 —4 0 4 4 8 4 2 2 0

Sk —TH 476 924 436 488 -3 —4 2 2 0 1 6 5 -7 0 7

. = 7290 1,691 812 879 0 -2 0 2 2 4 2 0 0 0
SR —TH 5531 1,276 609 667 2 —4 -1 0 1 -2 6 8 -1 1 2
S AT H 396 878 437 441 -1 1 1 1 0 0 1 1 0 0 0
o h ] B 611f 1,317 638 679 -2 -1 1 1 0 0 7 7 -2 2 4
BN T B 236 498 248 250 0 0 0 0 0 0 0 0 0 0 0
ARt TH 654 1,642 796 846 8 10 1 1 0 0 8 8 9 10 1
oA\ T H 388 839 385 454 1 1 -1 0 1 1 3 2 1 1 0
IV B 622 1,465 717 748 0 —6 0 0 0 -8 3 11 2 2 0
B naatkl 4,665 10,5300 5,078 5,452 6 -3 1 5 4 -6 38 44 2 16 14

e n—1H 356 797 394 403 -3 -9 -2 0 2 —4 6 10 -3 0 3
sk T AL 1,026) 2,101 1,053 1,048 5 4 -3 1 4 2 9 7 5 7 2
HHk o —TH 680[ 1,384 676 708 -3 -2 -2 1 3 -2 1 2 3 1
Wk A AEL 2,062 4,282 2,123| 2,159 -1 -7 -7 2 9 —4 16 20 4 10 6
Mt A — T H 561 1,237 596 641 3 -1 —4 0 4 2 2 0 1 1 0
ek R _TH 364 924 468 456 -1 0 1 1 0 -1 1 2 0 0 0
Mk R =TH 246 533 274 259 -2 -5 0 0 0 -5 0 5 0 0 0
ik L G| 564[ 1,301 664 637 -2 —4 -3 0 3 -1 2 3 0 0 0
msEr aaEtl 1,735 3,995 2,002 1,993 -2 =10 -6 1 7 -5 5 10 1 1 0
JCE g 374 847 407 440 0 0 -1 0 1 2 3 1 -1 1 2
HOEEN— T H 211 435 219 216 -5 -3 1 1 0 -2 1 3 -2 0 2
HOEE T H 428 932 463 469 2 3 0 1 1 5 5 0 -2 0 2
HoEEI =T H 698 1,686 827 859 -1 -1 1 1 0 -2 4 6 0 1 1
HOEEAN T H 808 2,021| 1,001 1,020 0 -1 1 1 0 0 6 6 -2 1 3
HEROH T H 4421l 1,026 517 509 -1 -1 0 1 1 -1 2 3 0 0 0
HOEEIS T H 389 855 415 440 -2 -3 0 0 0 -3 3 6 0 0 0
HoEEOETH 675 1,432 702 730 0 -3 -1 0 1 -1 5 6 -1 0 1
HOEESOSE 3,651 8,387| 4,144 4,243 -7 -9 2 5 3 —4 26 30 -7 2 9
PaEE | 1,515 2,746 1,313 1,433 -2 —4 -3 0 3 4 10 6 -5 0 5

FHIAR 302 634 325 309 0 1 1 1 0 0 0 0 0 0 0

EE g —T 540/l 1,096 509 587 0 -1 -1 0 1 0 5 5 0 0 0
EE g — T 260 519 257 262 -1 -1 1 1 0 1 1 0 -3 0 3
R =T H 537 1,178 583 595 2 0 0 0 2 2 0 0 0 0
EESN R T H 662 1,311 619 692 15 1 2 1 5 6 1 9 9 0
EEP g R T H 240 548 270 278 3 2 0 0 0 1 2 1 1 1 0
EEP A2 2 2391 4,652]  2,238] 2 414 12 17 1 3 2 9 16 7 7 10 3
EEIARRT— T H 722l 1,418 671 747 1 3 -1 0 1 3 34 31 1 2 1
EEIARRT T H 679 1,296 601 695 0 1 0 0 0 3 4 1 -2 0 2
EEOOARRT AR 1,401 2, 714| 1,272 1,442 1 4 -1 0 1 6 38 32 -1 2 3
RPN 273 776 420 356 1 0 -1 0 1 -1 3 2 2 0
WHR—TH 731 1,649 807 842 1 4 0 0 0 5 4 -1 0 1
OO T H| 1,746 3,958 1,910] 2,048 3 2 —4 0 4 4 18 14 2 3 1
WHR=TH 875 2,209] 1,078| 1,131 2 2 0 1 1 4 2 -2 4 6
HHRIT H 500/ 1,205 568 637 -1 -6 -2 0 2 -1 4 -3 0 3
HPREEH 3,852 9,021| 4,363 4,658 5 2 -6 1 7 12 36 24 —4 7 11
HiR—TH 729l 1,589 773 816 11 0 0 0 15 6 2 3 1
IHR_"TH 944 2,220] 1,113| 1,107 1 1 2 1 4 4 0 1 1
PR =TH 511 1,073 555 518 2 -2 1 3 20 16 0 1 1
brhiRaa 2, 184]  4,882] 2,441| 2,441 12 14 -1 3 4 13 39 26 2 5 3

T IROBTHT 329 814 393 421 0 1 1 1 0 1 2 1 -1 0 1

el 1,603 5,060 2,249 2 811 -5 -12 -3 3 6 -3 20 23 -6 0 6

M E T H 754 1,706 817 889 7 9 -1 0 1 10 14 4 0 4 4




R5.12. 1 BlE S amEEADR P BT R
JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i s A AR AR SET) ] A EREH &EH (H) | (&)

FYlE 1T H 765 1,798 894 904 1 0 1 2 1 1 3 2 -2 0 2
MoE =1 H 642l 1,492 737 755 -1 -2 0 0 0 0 2 2 -2 4 6
A EN T H 930|  2,195| 1,036 1,159 -3 -5 1 2 1 2 4 2 -8 2 10
RCENNE 658 1,483 732 751 -1 -3 0 1 1 —4 2 6 1 2 1
MAEST H 420 972 451 521 0 -1 -1 0 1 0 1 1 0 0 0
mAlEaE 4,169 9,646] 4,667 4,979 3 -2 0 5 5 9 26 17| -11 12 23
VEPIe S 583 1,147 558 589 2 0 0 0 0 3 4 -3 0 3
e —TH 323 691 332 359 0 1 1 1 0 -3 0 3 3 0
e — T H 594 1,308 620 688 0 -2 1 1 0 —4 3 1 2 1
A gl 917 1,999 952| 1,047 0 -1 2 2 0 -7 3 10 4 5 1
Eh— 1 H 310 688 350 338 1 3 1 1 0 0 2 2 2 2 0
= =T H 666 1,387 651 736 7 2 0 1 1 -5 3 8 7 7 0
=T H 422l 1,077 540 537 1 -2 0 0 0 -2 3 5 0 0 0
Eaatl 1,398 3,152 1,541 1,611 9 3 1 2 1 -7 8 15 9 9 0
e —TH 388 918 433 485 1 2 -1 0 1 2 3 1 1 1 0
WHE T H 4491 1,079 538 541 0 -3 -3 0 3 -2 1 3 2 4 2
HWHE =T H 833l  2,048| 1,045 1,003 4 14 1 1 0 8 8 0 5 5 0
W& T B 446l 1,019 495 524 1 1 -1 0 1 6 6 0 -4 0 4
B E ] H 835 1,794 388 906 3 1 -1 0 1 1 4 3 1 4 3
HHIENT H 241 498 249 249 -1 -3 -1 0 1 -2 0 2 0 0 0
HEOE 3,192l 7,356| 3,648 3,708 8 12 -6 1 7 13 22 9 5 14 9
<HWE—TH 596f 1,333 641 692 -1 —4 -1 0 1 2 2 0 -5 0 5
<HEIL—TH 708l 1,478 717 761 1 3 1 1 0 -6 3 9 8 8 0
SHBEIL=TH 514 1,117 551 566 2 -1 -1 0 1 0 9 9 0 0 0
<HEWLPTH 583 1,180 578 602 0 —4 -1 1 2 1 5 4 —4 0 4
<O T H 280 612 330 282 -1 0 -1 0 1 -2 0 2 3 3 0
<WEEEH 2,681 5,720 2,817[ 2,903 1 —6 -3 2 5 -5 19 24 2 11 9
WIE AR —TH 794 1,695 829 866 -1 1 1 1 0 1 5 4 -1 0 1
WIEAR T H 483 1,134 581 553 -2 -5 -1 0 1 —4 0 4 0 0 0
PIEAIT S 1L, 27711 2,829] 1,410| 1,419 -3 —4 0 1 1 -3 5 8 -1 0 1
s 407 777 367 410 0 -3 -1 0 1 -2 2 4 0 0 0
ek a—TH|[ 1,169 1,857 862 995 -1 5 1 1 0 3 14 11 1 2 1
e T H 466 778 381 397 1 4 1 1 0 2 4 2 1 1 0
kR =T H 728l 1,785 836 949 -3 0 -2 0 2 2 11 9 0 0 0
sk BRI H 418 856 408 448 -2 -8 -1 0 1 -7 4 11 0 2 2
ke El 2,781 5,276] 2,487 2,789 -5 1 -1 2 3 0 33 33 2 5 3
FRIREET 21 52 27 25 0 0 0 0 0 0 0 0 0 0 0
B 739 1,709 821 888 -2 -5 -3 1 4 3 5 2 -5 0 5
VEEE 332 740 337 403 1 0 -1 1 2 2 2 0 -1 0 1
e — T H 453 1,096 545 551 -1 -6 -2 0 2 —4 4 8 0 1 1
e T H 408 911 447 464 1 -1 -1 0 1 0 3 3 0 0 0
oo B R 861l 2,007 992 1,015 0 -7 -3 0 3 —4 7 11 0 1 1
P — T H 698[ 1,428 714 714 3 2 1 3 2 3 5 2 -2 0 2
P T H 536| 1,275 599 676 1 0 0 1 1 -5 1 6 5 5 0
WeEEm A Er 1,234 2,703 1,313] 1,390 4 2 1 4 3 -2 6 8 3 5 2
P e 322 693 352 341 -1 -1 3 3 0 —4 1 5 0 0 0
BEHIR 204 476 252 224 -1 -1 -2 0 2 0 0 0 1 2 1




